[Ipon3BoagHaa nokasaTtenbHOU PYyHKLUMN.




Hangute HanmeHbLUee 3HaYeHue
y=PYHKLAN . sy

y' — 2x2+2x+5 * ln2 . (Zx + 2), y — 2(—1)’+2(—1)+5

2x2+2x+5 . ln2 ” O

y=2'=16

2x+2=0




Hangute HaMmMeHbLUee 3HaYeHue

pyHKUUMU .
Y'=6"""":In6-(x’+16x + 66)

yr - 6x2+16x+66 . ln 6 3 (2x + 16), y —_ 6(—8)2+16(—8)+66
y —_ 664—128+66
6x’+16x+66 . ln6 * 0
y=6"=36

2x+16=0
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Hangute HavmMeHbLUee 3Ha4YeHue

yHKUUMU
y =5 In5. (x* —24x +148)’

y’ e 5x2—24x+148 . lll 5 . (2x _ 24), y —_ 5(12)2—24-12+148
y —_ 5144—288+148
5x2—24x+148 . ln 5 -~ 0
2x—24=0 y=o 362
x=12
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